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O=0d=z 12,370,0002 * 4.5% 557
OHLEE 12,370,000& * 3.23% 400
OFIRAEH 400,000& = 8.51% 35
CnE:EH 12,370,000& * 1.5% 186
OMTHEH 12,370,000& * 1.05% 130
201 L2l 35,535 116,628 A 81,093
01 At 2t 2l 34,935 116,028 A 81,093
OXNETEZAL JIEHE HEH & S =2
92,4003 * 240& = 95% 21,068
OXETHZAL AFR X7 ASE &d
55,0003 = 40& = 95% 2,090
OXNHMHZEAL MBXF EH Xy
150,000& » 20HKI =+ * 23| * 95% 570
ONFMEA AN SBT U B0 Ty
103,000& » 20HKI=* * 63 * 95% 1,175
OXNEIH=ZAL AFHX T E22 M=
5,000& = 60090 = 95% 2,850
ONEMEAAMY 5 BH2g
100,000& = 6Y = 43| = 95% 2,280
OXNAHTMEAL 2EEI==x2
43,0003 * 60Z Xl = 212 = 1JH K= = 95 4,902
%
02 2324l 600 600 0
OfI4=& &l ol sabl
20,0008 * 123 240
OXETHEZAL HHEE 2HY S4ld]
30,000& = 12& 360
301 LeEAF 200,000 200,000 0
12JIE243 200,000 200,000 0
OXNEMEAL =83 250,000& = 800m 200,000
SREINEZY HR2FA 2,660 2,800 A 140
201 Let249] 2,660 2,800 A 140




SN B ARKED
Hu: Mas DB UNAHIA HE
Crel: mas EX BE MZS 9IE OlY 7% (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
01 At 22l 2,660 2,800 A 140
OZRENSEINE FH2Y
100,000& = 6 = 33| = 95% 1,710
OSREXNZE ot E22 M=
2,000& = 5008 = 95% 950
HH2AZH(EL 7 UAXNXL) 91,545 81,008 10,537
Jl=&l 91,545 81,008 10,537
Jl234 91,545 81,008 10,537
201 Let24d] 55,242 43,016 12,226
01 At 2teltl 26,502 27,896 A 1,394
OJlege=adZl 500,000& = 22H = 95% 10,450
OJ=ZHl(=2&l)
8,000& » 228 = 8 « 128 » 95% 16,052
02 3322l 28,740 15,120 13,620
oORUR= 28,740
Og et 3503 = 7008 « 12& 2,940
OsJl 2,150& = 1,000 * 123 25,800
202 oddl 32,103 33,792 A 1,689
01 = LH o4 1l 32,103 33,792 A 1,689
OJI&Z
20,0003 = 22H » 82 « 12& » 80% * 95% 32,103
203 YR =& 4,200 4,200 0
04 NI 4,200 4,200 0
©J| & K (25210156t) 350,000& = 12& 4,200




= o
A & 0l & AF 2 E A A
20208 = =0l &k LA S HIEXNFW ~ S AFY
SN EHT FOU=XD
My s L A=K BA
b9l FOHQl BOHE Y =2XNSA (B9 ®R)
. SfE|
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
s F0=2X D 4,924,362 4,971,862 47,500
FANS L FOHA=EX B 43,601 48,400 A4,799
Zoe HAMS & =NSsA 25,401 23,500 1,901
ZoHe =X E2 12,401 10,500 1,901
201 L2l 12,401 10,500 1,901
01 At 22l 11,401 9,500 1,901
(OFSEV R RSE=E DN R PN E DN
1,100& = 2,50000 * 95% 2,613
OFMWANBFXTY FHEX 2HE SHB
50& * 4,00000 = 95% 190
OZOHQ ARBR AAl oI
200& = 5,00008 » 95% 950
OHMHATMEFIAH ES 7,648
OBSZe 228 4%
70,0003 = 6500 = 95% 4,323
OsE8 ¢AUE 100& = 15,00000 = 95% 1,425
OHMYUEEFIFS 2203 AEFH 2
40,000 * 5081 * 95% 1,900
02 222 1,000 1,000 0
OUE M0 =& 50,000& = 20CH 1,000
Z0iots =FAH=Z 2F 10,000 10,000 0
307 21201 A 10,000 10,000 0
TEEY EEE: 10,000 10,000 0
OZlols == 2F 10,000,000& * 13l 10,000
SSHMHLY AaUS0 29 3,000 3,000 0
307 gl2tol & 3,000 3,000 0
11T AIS S XAEE = 3,000 3,000 0
SSTMLY MaUsol 23
3,000,000& = 13l 3,000
O =X Jlgtx= 4 13,200 19,900 A6,700
THOtEOHe! Maetd X 13,200 19,900 A6,700
301 LA F 13,200 19,800 A 6,600
01 AR 2Z A5 3 13,200 19,800 A 6,600
OSSO MHSEY XY
150,000& * 18H » 42 DI 10,800
O1=Z0e wsH XI&
40,000 = 159 = 42| 2,400
HeA X & =0l ze| 5,000 5,000 0
HeA AL A & =0l 2el 5,000 5,000 0
307 glz2+ol & 5,000 5,000 0




2N

=R TE
HE: HONE L FoU=X B
Sl WK L ol 2 CERED
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o ﬁ}lgﬁ HRE2
01 sd =t 5,000 5,000 0
oA AL X & H ] 1,000,000 = 232 2,000
O P otAal oFX|H| 60,000 * 271 = 10g 1,200
OMAAMNUXN} 2D= 600,000 = 232 1,200
OL=90 HHItH | 10,000& » 5 » 12& 600
A2otD EJ|& - SMHE PBA 1,172,369 1,241,728 A 69,359
L OISO 611,775 576,000 35,775
e X 398,400 528,000 A 129,600
301 et M= 398,400 528,000 A 129,600
01 Al B & A 262 398,400 528,000 A 129,600
OXx=x= XA 40,0008 * 830¥ * 128 398,400
2&29 & 12,000 12,000 0
301 et M= 12,000 12,000 0]
01 Al E& A %52 12,000 12,000 0
ogt4+4 XA 50,000& = 20 * 12& 12,000
ENLQ EXNSN 60,000 36,000 24,000
301 et A =2 60,000 36,000 24,000
01 Al E & A 462 60,000 36,000 24,000
O=SHL2 AA52 K&
500 * 500 * 20 = 128 60,000
LomMpnaed 141,375 0 141,375
307 212t0| & 141,375 0 141,375
11 A EXAIEEX 141,375 0 141,375
=250 s 24 30,595,000 30,595
224 ysE 29 32,625,000 32,625
OHIOILEZELQUE 29 43,500,000 43,500
OsZEFZL0Us 24 34,655,000 34,655
EOototD IWES LI XAIAE HE 560,594 665,728 A 105,134
A2 AFE HES 349,909 497,125 N 147,216
401 AlEHIZL 2 0HY| 117,400 141,805 N 24,405
01 Al&EH| 117,400 141,805 N 24,405
OANAREZY W2+ 57,000,000 57,000
0OLEES LESEIITRY HWEX(ES)
5,050,000& = 1JH 24 5,050
oss E22|1ZR2Y WELS(ES)
6,521,000& = 1J0 24 6,521
O=24AH QAMRZIFAZY NES(ZHY, ZE)
2,834,0008 * 1A 2,834
O=2UisE 2UWZE2Y MHE(ZHH, =)
2,717,0008 ~ 1004 2,717
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SH: EYT Fo=XD
M. H2AUGHD I “SMHE B&
CHRl: EOotgtD ESH LIS AAAE M2 (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
IHE 2x1032g AEH (AT S)
2,750,000 * 1JH A 2,750
OLUH MHe22|E2Y HE (524!
4,994 000 * 1JH A 4,994
OXUH Edeeld2Y ME=(=HH)
1,012,000 * 12 1,012
OZUH EHe12lZ22E MES(AIAW)
2,992,0002 * 104 2,992
O HO1RERY N4 (A0EIIELR
wA) 5,170,000& = 1JH A&~ 5,170
OLUE 2e52BRY 24 (430)
2,550,000& * 1JH A 2,550
OZUH 23232 HES(AEIIELH
WH, SHf, &2 5) 9,980,000& * 1JHA 9,980
0SB BS2AARY WS4 (BT 2h4,
gt=at) 6,980,000 = 1JH A 6,980
O=24H A222|22Y MWES(SHEA &,
HeE ) 2,464 ,000€ * 104 2,464
O=24H JIeH2|ER2Y HE S (324!
3,550,000& * 1JH A 3,550
O=24AtH JIS32F2Y WES(ZH, ZE)
1,940,000 * 1 1,940
O=S4aH JIE2e|Z22Y HES(SHEA)
3,060,0008 * 1JHA 3,060
O2FAE2E AUOIIIEZTZY HES (AL,
Tl S) 4,840,000 * 1JH 2~ 4,840
O2MAE2E KNAOIMEZZ2Y MES(AIAW)
2,398,000& * 1JHA 2,398
O2FMAESS AFHMXIOIIIEZRZY HES (S
Bl ) 1,155,000 * 1= 1,155
O2U1I=ES HWAOIMEZRZY HES(AIM)
2,497,000€ * 104 2,497
oO=2H1s X0 EURUEIXIOIIIEZZ2E I
Ba(Aal) 2,970,0008 * 1JHA 2,970
oO=2H1s X0IEUR2UE2XI0IIIEZ 2 E |
B4 (<) 1,122,000 * 102 1,122
O=2U1=s MIFLEIONSOLEZRRZY MES (S
By, &) 3,700,000& * 1JHA 3,700
o=l E40IIEA MWE 4 (3HEA)
1,500,000 * 1 1,500
OPIF=E= QAZIEIEOIEZZY MBS (S,
e AT 6,558,000& = 1JH 24 6,558
OIZES IEFTZ26HXOIIMEHR2Y HE |
il S) 3,423,000 * 1004 3,423
O2Yr2sdES ZE0INEZIZRY MES(ZHY,
AHEH) 1,680,000& * 1 1,680
O2H2ET = HRAOMEZZY MBS (S HH,
AHEH) 1,859,000& * 1 1,859




SN BHT FA=TY
A AYED BIIH LEME B
Chel: BHOtGHD MAE WIS XAIE MB (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
OZN1IE ZNREZZY HE=(MOFEIIEZY
el WA) 6,765,000& * 12 6,765
OLMNIS MEAZY HWES(AINU)
2,200,000& * 1002 2,200
OLNIS AE2RZEZY MNES(AZINU)
2,959,000& * 1002 2,959
OZMNIE =2Z2Y HE=(43AU)
2,542,000& * 1002 2,542
OZAMIE SUMIZEY HES (AW, FH)
3,124,000& * 1002 3,124
OLAN2E 2LAZY NWES (S0 B S
) 4,500,0002 * 1004 4,500
OLAN2s AE2Z2Y MNES(HSWAH)
9,818,000 * 1JH A 9,818
O&I| HHFH 2EREANE HE=>
470,000 » 1000 & 4,700
OJtA CHMFY 2EREANLE HE=>
220,000 » 2700 2 5,940
F2EY FIIaA & 2l 210,685 168,603 42,082
201 Let24d] 46,985 49,603 22,618
01 At 22l 46,985 49,603 A2,618
0FRY FIINHHY 242
100,000& * 16570 2 * 95% 15,675
OFRY HBAHRNAHY 242
46,2003 * 165012 *» 95% 7,242
OARY HIE ML 448
50,0003 * 165012 *» 95% 7,838
0ARY 4= 448
20,0003 = 165 & * 23] * 95% 6,270
Cd2Y Xz 9,960
OREMES MEZZY  230,000& » 123 2,760
Oltds 2ot=232Y 600,000& = 12& 7,200
402 2I2HAHE01 M 141,200 89,800 51,400
01 2I2E 2 A B (KR ) 141,200 89,800 51,400
oRlZztaARdzd 2222 (HAHA)
1,500,000& * 1CH 1,500
oES AF¥22BdZ2Y 22 1,500
ool 1,500,000& * 1CH 1,500
O02EES LSZ00IHEOIHEZZRY 22 2,400
OTv 1,200,000 * 2CH 2,400
oES AF2eBZY 23 1,500
oolotA 1,500,000& » 104 1,500
O02Es MAB312BzY 22 2,700
oA 1,500,000& * 1CH 1,500
o1V 1,200,000& * 1CH 1,200




SN B FUSKD
M AZotD I L sME 9F
S oGt HAE LANHIN=EXAE WS
SA - ZE-B(EN) - NRAY - B S il &t o il
oss 2R3 =2Y 23 1,500
oo A 1,500,000& * 1CH 1,500
oOss 2H2el3=2Y 23 1,500
oo A 1,500,000& = 1CH 1,500
oOEE 2E7IBZ2E 23 1,500
OdIIgE 300,000& = 1CH 300
o1V 1,200,000& * 1CH 1,200
OEE 42132 23 1,500
(OFSIR=18-5 300,000& = 1CH 300
o1V 1,200,000 * 1CH 1,200
ORES LEUHIAZUEILOIMEZRZY 23 1,500
oulA 1,500,000& * 1CH 1,500
Oss 284232 =23 1,500
oo A 1,500,000& * 1CH 1,500
oOss U323 Z2E =3 1,500
o1V 1,200,000& * 1CH 1,200
OdIIgE 300,000& = 1CH 300
OES 25623 =2Y 23 2,700
oulA 1,500,000 = 1CH 1,500
o1V 1,200,000& * 1CH 1,200
oss 22l d2Y 22 300
(OFSWIR=18-5 300,000& = 1CH 300
oOss d=1Cld3=2Y 23 1,500
oooA 1,500,000& = 1CH 1,500
oOEE MBI1RIBZ2Y 23 1,200
OTv 1,200,000& = 1CH 1,200
OES NE22I3Z2Y 23 1,200
OTv 1,200,000& » 104 1,200
oss 3=223=z2Y =23 1,200
OTv 1,200,000 = 1CH 1,200
oOss sH12ldzY =22 2,700
OoTv 1,200,000& * 1CH 1,200
oooA 1,500,000& = 1CH 1,500
oxud axeldzd 23 2,700
oooA 1,500,000& = 1CH 1,500
o1V 1,200,000& * 1CH 1,200
ozUH E312(8s8)8d2E 28 1,800
Odzan 1,500,000& * 1CH 1,500
OJtAd el X 300,000& * 1CH 300
oZUud i3 =2Y 23 300
OJtad X 300,000& =« 1CH 300
OZUH HH2el(8A)H2Y 23 1,500




2H: BET o=
HH: AYsD BIE LSME 9F
Chel: BHOtGHD MAE WIS XAIE MB
SA BB O () - NRAY - HES 0l &+ o4 il
OHED 1,500,000& * 1CH 1,500
o2Uud geeldzy 28 1,500
OdED 1,500,000 * 1CH 1,500
oL 3223 =2Y 22 600
(OFSIR=18- 300,000& = 1CH 300
OJtA ekl 300,000& = 1CH 300
oZUdH F=32B3=2Y 23 1,500
oo A 1,500,000 * 1CH 1,500
OZUH AIx221B=2Y =23 300
OdIIgE 300,000& = 1CH 300
OZUH AteI22|B=2Y 23 2,700
o1V 1,200,000& * 1CH 1,200
ool 1,500,000& = 1CH 1,500
oZUdH HF¥I12BZ2Y 23 1,500
oolotA 1,500,000& = 1CH 1,500
OZUdH EBHd121B32Y 23 2,700
ool 1,500,000& = 1CH 1,500
o1V 1,200,000& * 1CH 1,200
oZ2Uud geeldzy 22 1,500
ool 1,500,000& * 1CH 1,500
oZUud HeldzY 22 1,500
ool 1,500,000& * 1CH 1,500
oZUdH Hstieldz2Y 22 1,500
oolotA 1,500,000& = 1CH 1,500
OZUd Ma12lB32Y 23 3,000
oolotA 1,500,000& = 1CH 1,500
OYzan 1,500,000& * 1CH 1,500
OZUH EE2|B2Y 23 1,500
Oz n 1,500,000& * 1CH 1,500
oZ2Uud goieldzYd 22 1,200
OTv 1,200,000& = 1CH 1,200
OZUY HE2dzY 23 300
Ot d ek 300,000& = 1CH 300
oZUdH a=8elid3zd 23 1,300
O3J1&EED| 1,300,000& = 1CH 1,300
O=s4&H 2121 BeY 23 2,700
ool 1,500,000& = 1CH 1,500
o1V 1,200,000& * 1CH 1,200
O=s4H JEt3eld3z2Y 23 1,500
ool 1,500,000& * 1CH 1,500
OsNH A2228zY 22 300
Ot d ek 300,000& = 1CH 300
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SH: 2R Fo=0D
A HASD BIIE LSME B
CHl: BIONSID MEE CQOIIISTAL KB
S HD B (SH) - NRAY - BAS O 4t o8 il
O=2U1s NELEOSOIIEREZY 23 4,500
OJtA g el X 300,000& = 1CH 300
(@)= FS g 1,500,000 = 1CH 1,500
o1V 1,200,000& * 1CH 1,200
oulofA 1,500,000& = 1CH 1,500
O=l1s MIXNEEX0IMEZZY 2 300
O&IIgt&E 300,000& = 1CH 300
O=2U2s MUOIIIEHZY 23 1,500
ouloA 1,500,000& = 1CH 1,500
O=2U2= NIOIIIEZEA=zY 23 1,200
o1V 1,200,000& = 1CH 1,200
o=sl2s &3 2Y 22 2,700
ouoA 1,500,000& * 1CH 1,500
o1V 1,200,000& = 1CH 1,200
OJtds MAAINFZSO0ITLDEZIZY 22 1,500
o1V 1,200,000& = 1CH 1,200
O&IIetE 300,000& = 1CH 300
OJ&ES IHEFZ22HX0IIEZZY 23 1,500
OTV 1,200,000& = 1CH 1,200
O&IIeE 300,000& = 1CH 300
OJlds HEOIMIEdZY 22 1,500
Od&En 1,500,000& = 1CH 1,500
OJIds HZZ2XAUOIIMEHZY =3 1,200
o1V 1,200,000& * 1CH 1,200
OJIEES MA2XNO0IIEHRZY =23 600
O&IIgtE 300,000& = 1CH 300
OJtA g el 300,000& = 1CH 300
OJEs JIZ2x0ISEUANNEEY 22 300
(OFSPIR=1S 300,000& = 1CH 300
OJlds HROIIIEdEZY 22 1,500
ouoA 1,500,000& = 1CH 1,500
OJIds HRAZIEIZOIIE"ZY 22 1,500
ouoA 1,500,000& * 1CH 1,500
O8Y2sds HSOIMEZEZY 225 300
OJtA g el 300,000& = 1CH 300
OXdMIS NANMIE2Y 22 1,500
ouoA 1,500,000& * 1CH 1,500
OLNIES dN28EEZY 23 1,500
OM=1 1,500,000& = 1CH 1,500
OXMIS ME2RZZY 23 1,500
O 1,500,000 = 1CH 1,500
OZNIsS B aY 22 2,700




SN B FUSKD
Mz AHAAolD S - sMHE PBE
CHel: BOIStD MEE LOOII=XAL HB (ol @)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
Od &N 1,500,000 = 1CH 1,500
OTV 1,200,000& = 1CH 1,200
OLANIES SHOILIEHRZY 23 1,500
oA 1,500,000& * 1CH 1,500
OLNIES BIOILIEHZY 23 2,700
ouofA 1,500,000& * 1CH 1,500
o1V 1,200,000& = 1CH 1,200
OXdMIs s=JelotEdE=zY 23 1,500
ouoA 1,500,000& = 1CH 1,500
OLANIS HEFLYUOLMEZRRZY 2 1,800
Od&En 1,500,000& = 1CH 1,500
OJrA gl el Xl 300,000 = 1CH 300
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ONM&EZH 2EE2(E=H Jdo0ldH)
200,000& * 6804 13,600
OEZH 50U 100,000& = 68CH * 33l 20,400
O M & Z&dl £=2lbl 15,000,000& 15,000
ONEEY SEU
1,275& = 20L = 10CH = 203 5,100
206 M = dl 5,000 5,000 0
01 X2 4| 5,000 5,000 0
OMHHE XNMH(EOI S 95)
5,000,000& 5,000
401 Al HI L 2 0HHI 10,000 25,000 A 15,000
01 Al& H| 10,000 25,000 A 15,000
OMUAE XA MH 10,000
O & S 244
2,500,0008 * 400 A 10,000




2N
X ZH -
L= B
el

sS4 A4
i & THaH <
SIEAIE e

Hza 28

SA - BB B () - MM - BES Ol &t o San HmEET
SHEAIE Jhd 920,574 851,977 68,597
ot HHl # =X 2l 378,838 377,028 1,810
201 Let24d] 25,448 23,638 ,810
01 At 22/l 21,470 19,750 1,720
Ootd =4 2 =2 FHl FHLX= 11,305
O=4t)| 600,000& * 201 = 7 » 95% 7,980
ogzmxt 500,000& = 1CH = 7 = 95% 3,325
Odtd HFXNE & Xz
800,000& * 1CH = 128 = 95% 9,120
Odtd W =2HEE =X dUHEXE
100,000& = 5JH A = 95% 475
OHAHZZ A (EST)HLIOIE
600,000& = 100 = 95% 570
02 =224l 3,978 3,888 90
Oxg |=FHl 1,2753& = 12L » 260 3,978
401 AIEHI L 20 353,390 353,390 0
01 A& HI 351,518 351,518 0
Ootd KRR 2cl ALY 260,000,000 260,000
Odtd SHI0l & ==2MAAY  40,000,000& 40,000
Ootd 2AefzaialE: HHA 40,000,000& 40,000
OdtdEHl ¥ |A2clAt AAEAH|
260,000,000& * 4.43% 11,518
03 Al 2 THHI 1,872 1,872 0
OGtd S ZelALY AIE R0l
260,000,000& * 0.72% 1,872
A0HE FHIALY 541,736 474,949 66,787
401 AIEHI L 201 541,736 474,949 66,787
01 A& Hl 538,460 473,449 65,011
OAotd KA 2elAt 80,000,000& 80,000
OorgH el ot AachE & HI3 AH(L=290m)
120,000, 000& 120,000
OZ3SAGHE A HIZ AHL300m) 100,000, 000& 100,000
OSEA6tA SHE Ul S AH(L=240m)
120,000, 000 120,000
OHFe AYAGAE SFH U3 AHL=100m)
100,000, 000& 100,000
OAotdE A 2lALY & A& A HI
520,000,000& * 3.55% 18,460
03 Al =2 THHI 3,276 1,500 1,776
OAotd FHIAMY AIEL20Ul
520,000,000& * 0.63% 3,276
St==2tel 671,278 479,970 191,308
ot % Xlot+= Es22| 671,278 479,970 191,308




2N
X ZH -
L= B

el

S A4
3z
> 2 Xote 25

= _ — d =
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
Aot A= 2el 67,498 57,090 10,408
201 £B-2d| 7,498 7,090 408
01 At 22l 3,658 3,250 408
OXdts =2ZFL AlZ Mg 7
2,500& = 10000 = 95% 238
Obi+2 e 22X AWB(HEA)
3,000,000& = 95% 2,850
OHAHZZ A (EST)HUIOIE
600,000& = 100 = 95% 570
02 =224l 3,840 3,840 0
osHes 10,000& = 32 A « 12& 3,840
401 Al HIZ 201 bI 60,000 50,000 10,000
01 A& HI 60,000 50,000 10,000
OXiots BEx2=d ZHIAMY 60,000,000 60,000
Bi==Ald &EHl ¥ szt 603,780 422,880 180,900
401 AIEHI L 2 CHYI 603,780 422,880 180,900
01 A& HI 600,000 420,000 180,000
oOtsot+=& Jdl &€ |X2ecl 210,000,000& 210,000
Odl™E 9BH X LR St===F b2 AHL=70m)
150,000, 000& 150,000
©Jt& & 310-31% Xl i =2 =i S At(L=200m)
30,000,000& 30,000
O&&E S 58728 Xl Gt S & 4l = AH(L=50m)
15,000, 000& 15,000
OZAME 359-381 X i === & HI 3 At (L=250m)
40,000,000& 40,000
OXl™E 206-2H Xl B === & X 2 At (L=150m)
25,000,000& 25,000
OZMS 146H Xl i =2 & Ul S AH(L=50m)
10,000, 000& 10,000
O=Uts 2201H X dt= =& Hl 3 AF(L=250m)
120,000, 000& 120,000
03 AIE 2 THHI 3,780 2,880 900
Obi=AlE EH & |A2c ALY
600,000,000& * 0.63% 3,780
HH2AIH(EL 7 HLD) 363,082 396,263 A 33,181
el 2l 285,586 312,240 AN 26,654
oI 244l 285,586 312,240 AN 26,654
101 @124l 285,586 312,240 A 26,654
03 RIHAZ 22 = 285,586 312,240 A 26,654
okzEx¥ 272,786
od=s(ota) 178,874
-26 Xt 3,489,740 * 1H » 123 41,877




SN BT AL
E: HYSYAH (S ALD)
Sl ol ) CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
-25E Xt 3,435,640 * 1¥ * 123 41,228
-154 Xt 2,894,640 » 1H 1228 34,736
—13E XH(BHE) 2,786,440 * 1¥ » 123 33,438
-43 Xt 2,299,540& » 1H » 1228 27,595
O=% 86,112
s 6,000
- B X 40,000 * 4% = 128 1,920
- JIEtEHI S 20,000& = 5% x 12& 1,200
- XM 20,0003 = 3H » 123 720
=M 60,000& = 3% = 12& 2,160
—BFAFA 1,200
BHE =G 100,000& = 1H = 12& 1,200
Il 12,329
26E Xt
23,7103 = 1€ = 10AI2t = 128 2,846
- 25E@ Xt
23,3703 = 1H = 10AI2t = 128 2,805
15 Xt
19,8603 = 1% = 10AI2t = 12& 2,384
13 XH(BHE)
19,7803 = 1% = 10AI2t = 128 2,374
ASPN;
16,0003 = 1% = 10AI2t = 128 1,920
—HEA (W) 2R+E 12,329
264 Xt
23,7103 = 1 = 10AI2t = 128 2,846
- 25Q@ Xt
23,3703 = 1 = 10AI2t = 128 2,805
- 159 Xt
19,8603 = 1% = 10AI2t = 128 2,384
- 13E XtH(BHE)
19,780& = 1% = 10AI2t = 128 2,374
WP
16,000& = 1% = 10AI2t = 128 1,920
-ort2 2 4g 16,440
- 26 Xt
31,6203 » 1€ = 10AI2t = 128 3,795
- 25E@ Xt
31,160% *1H = 10AI2t « 128 3,740
- 5@ Xt
26,4803 * 1H = 10AI2t = 128 3,178
- 13E XH(BHE)
26,3803 * 1H = 10AI2t = 128 3,166
IS DN
21,3403 = 1H = 10AI2t = 123 2,561
-1 JLE &I 10,961




SH: 2SR ALY
HH: BHSYAU (BT ALY
chel: ol gyl CEEEED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
- 2649 Xt 126,480 * 1¥9 x 20 2,530
- 25 X} 124,640 *~ 19¥ = 20 2,493
- 154 X} 105,920 » 1Y x 20¢ 2,119
S A3E XF(BFE) 105,520 + 1" x 20 2,111
SN 85,360& * 1H » 20 1,708
&g 3,000
BN g 50,000& = 5% = 12&€ 3,000
2544 8,945
- 2649 Xt 174,480 * 19 = 12& 2,094
- 25E Xt 171,780 » 1¥ x 128 2,062
- 154 X} 144,730& + 19 = 12& 1,737
< 13E XF(BHEH)  139,3209 * 1¥H * 12€ 1,672
- 43 X} 114,970& + 198 » 12& 1,380
-HAE S| 14,908
- 269 Xt 1,744 ,870& * 19 x 23] 3,490
- 25 X} 1,717,820& » 14 * 23] 3,436
- 15E Xt 1,447 ,320& * 1Y * 23] 2,895
13 X (EHE)
1,393,220& * 1% * 23] 2,787
- 44 X 1,149,770 ~ 1H * 23] 2,300
O= & 130,000& * 5 x 128 7,800
ORAX Xl &l 130,000& * 59 x 12& 7,800
o223 LSyl 1,400
Oo&g= 90,000& * 5H 450
[@F=3=] 15,000& = 59 75
OotN 3t 60,000& * 5H 300
O& 3 15,000& * 59 75
ogst= 100,000& = 59 500
oxz2E4+3d EZA 2l 3,600
O30 Xl 8,000& * 5% * 50 2,000
O XH oHf CH =4 8,000& * hY * 40¥ 1,600
Jl =23l 77,496 84,023 NB,527
DR s]l 77,496 84,023 NG,527
201 Bt 41,270 42,783 AN 1,513
01 AtSR 22l ] 31,320 32,968 N 1,648
OJlegRsaAE| 500,000& * 26H * 95% 12,350
OJI=&AHl(=S&H|)
8,0008 * 26Y x 8L * 128 * 95% 18,970
02 382 H| 9,950 9,815 135
oRWER3 9,950
Ot 350& * 10,000A4 3,500
OsII 2,150& = 3,000 6,450




2N
X ZH -
L= B

el

SN B BH(EA) - NRAY - BAS of & o4 San HIDZ2
202 o4 4 31,066 32,448 A1,382
01 SLHOYI 26,266 27,648 N 1,382

QJI=3Hl
20,0008 = 248 = 82 * 128 = 60% » 95% 26,266
02 EA0dtl 4,800 4,800 0
OHYAMNEZR 200,000& » 2% » 12& 4,800
203 =AYl 5,160 5,160 0
04 FAN2SERFAH| 5,160 5,160 0
OIIEH 5,160
O30¢!l Ol ot 400,000& » 12& 4,800
O30e! 0l & 5,000 = 6% » 12& 360




| & A R Al A

¢ 2=
T
=2

020 EOI4 EHEH ST YIXHL ~ S ASY
SN EHT AED
HE: ASHY AA G
©e: MRt HEHEY =X CEERED)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
sS4 A= 349,483 386,722 A 37,239
A=Y 24 259,667 297,680 A38,013
dElgt=s ASAHE = 206,434 243,706 N37,272
NYs ASHHS A8 2 197,960 231,531 A 33,571
201 L2l 197,960 231,531 A 33,571
01 At 22l 197,960 231,531 A 33,571
OA=SI LA D EEIZALZALSASHEA
== 1,026,490 * 70024 * 5% * 95% 34,131
OAESQI(3It) SE AL DA SIS
=== 1,026,490 * 42024 *» 25% * 95% 102,393
OAES(ALD) EEZALZAEQ ARHE
=== 61,436,000& 61,436
Mg AldES ot A 6,987 10,400 A 3,413
201 Lt 6,987 0 6,987
01 At 22l 6,987 0 6,987
O3BANEZ NEUHY HEHEAN =22
367,700& * 2H = 10 = 95% 6,987
A=SUHE 2el 1,487 1,775 A 288
201 ¢4l 1,487 1,775 A 288
01 At 22l 1,487 1,775 A 288
OASSUF HiH 2
17,0003 = 253 = 95% 404
OA=SUHE L=EX
27,0003 * 202 A * 95% 513
OAZSUE AZTHNEM 7
8,000& * 58 = 15& = 95% 570
sSYdE NS 53,233 53,974 AT41
208 el & X 3,040 3,200 A 160
201 Let24d] 3,040 3,200 A 160
01 At 22l 3,040 3,200 A 160
o o= Yl
8,000& = 4% « 100 » 95% 3,040
EYH=ES L SHZIOE NS 42,467 42,515 A48
201 Let24E] 3,762 3,960 A 198
01 At 22l 3,762 3,960 A 198
O=sg2d== H=E =4 532
OF= i 90,000% * 28 » 2H * 95% 342
ogst= 100,000& = 2H = 95% 190
O=sga10= =B I =4 1,330
OZ2&8= 90,0008 = 25 * 5% * 95% 855
Oogst= 100,000& * 5% = 95% 475
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2N
X ZH -
L= B

el

SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
HHSHAY (9P A=) 89,816 89,042 774
JlE&ddl 89,816 89,042 774
Jl2AH| 89,816 89,042 774
201 et d| 37,246 37,974 NT28
01 AR 22l ] 29,212 30,432 A 1,220
OJl2g LA
500,000& * 25 % 95% * 97% 11,519
OJI=ZHH (SHI)
8,0008 * 2523 % 82 « 122l x 95% * 97% 17,693
02 22244 8,034 7,542 492
o= 7,050
ogut 350 « 450 * 128 1,890
OS2Il 2,1508 * 200 ~ 12€ 5,160
O#HAAMNREH KU 984
O& XK= A 5,000,000& * 2CH * 8% 800
[@X Iyl 2,300,000 * 1CH * 8% 184
202 o4l 47,770 46,368 1,402
01 2Ll 18,970 19,968 A998
OJ|Z=Z |
20,000 = 13Y * 8 * 128 % 80% * 95% 18,970
02 NI 28,800 26,400 2,400
(OFINEF PN 200,000& = 1298 * 128 28,800
203 ¥ 2 =& 4,200 4,200 0]
04 FEASHEYIFFEH| 4,200 4,200 0
©J|=AH|(25010156t) 350,000& ~ 12€ 4,200
405 XtAHE S| 600 500 100
01 XAt 2 ZF S| 600 500 100
OFHAMI(AMEAZ) 300,000 = 2CH 600




